WinEcon/thresholds project

The Multiplier

WinEcon alternative

Level 1 Business

Now we have reviewed the circular flow of income in this workshop, you should complete the exercise below. 

There is a link between the marginal propensity to consume (mpc) domestic output and the size of the multiplier.  If we assume that households spend/consume 60% of any increase in income that they receive, the value of the mpc = 0.6.  This means 60% of any increase in income will be consumed and will flow into domestic firms.  The remaining 40% of the increase in income is withdrawn from the circular flow eg. it is saved.  Thus the multiplier (k) = 2.5.

Multiplier formula:


k =      1      =        1     =   1   =  2.5


        


       

      1 - mpc
  1- 0.6      0.4
If we assume the mpc is now 0.2 (ie: only 20% of any increase in income is consumed) the multiplier's value falls, k = 1.25 as less money remains within the circular flow of income. 

If the multiplier = 2.5 an injection (J) into the circular flow of income, eg. an investment (I) of £10m, will result in a larger increase in national income (Y) of 2.5 times the injection.

change in national income 
=
multiplier x change in injection *

           Δ  Y




       k              Δ J*
Δ Y


=
 
      2.5     x      £10m





=

£25m   


* a change in withdrawals (W) may be substituted for injections. Note: a rise in withdrawals will result in a fall in Y. 

If the multiplier falls to 1.25 an injection (J) into the circular flow of income of £10m will result in a larger increase in national income (Y), but a smaller increase than before, only 1.25 times the injection. Thus, Y only rises by £12.5m.
______________________________________________________________

1. If the mpc = 0.7 what is the change in a country's national income if injections rise by £90m?     

2.
If a country's level of national income is £300bn what is the new  level of 
national income following an injection of £3bn into the economy?  Assume the mpc = 0.8.

3. If the mpc = 0.7 what is the change in a country's national income if there is a withdrawal of £90m due to a lack of business confidence regarding future sales?     

4. Why is it beneficial for a business to be aware of the multiplier and circular flow of income?

